

$$\alpha + \alpha q_h + \alpha q_h^r = 21 \rightarrow \alpha q_h \left(\frac{1}{q_h} + 1 + q_h \right)$$

$$\alpha \times \alpha q_h + \alpha q_h^r = 4 \epsilon \rightarrow \alpha q_h = \epsilon$$

$$\frac{\alpha}{q_h}, \epsilon, \alpha q_h$$

$$\alpha q_h \left(\frac{q_h^r + q_h + 1}{q_h} \right) = \epsilon$$

$$\frac{\epsilon}{q_h} + \epsilon q_h = 14$$

$$\epsilon \left(\frac{1}{q_h} + q_h \right) = 14$$

$$\left(q_h + \frac{1}{q_h} \right) = \frac{14}{\epsilon} \rightarrow \begin{cases} q_h = \epsilon \in W \\ q_h = \frac{1}{\epsilon} \notin W \end{cases}$$

(۲)

۱

$$\frac{n^r - r}{r(n)} = \frac{r(n)}{n(n)} \rightarrow 0 = (n^r - \epsilon)(n^r + r) \rightarrow n = \pm r \text{ } q_h > 0$$

$$\rightarrow n = r \xrightarrow{\text{دو طرفه ضرب}} 1, \epsilon, r, \dots \rightarrow q_h = \frac{1}{r}$$

$$\left. \begin{array}{l} n^r + \epsilon > 0 \\ r(n) > 0 \\ n^r - r > 0 \end{array} \right\} \rightarrow n > 0$$

(۲)

۲

$$\sum_{v=1}^n \ln \left(\frac{1 - (\frac{1}{r})^v}{1 - \frac{1}{r}} \right) = 14 \times \left(1 - (\frac{1}{r})^v \right) = r^v - r^{-r} = \boxed{15 \frac{1}{r}} \checkmark$$

$$\alpha_1 + \alpha_1 q_h^r + \alpha_1 q_h^{r^2} + \alpha_1 q_h^{r^3} + \alpha_1 q_h^{r^4} = \alpha_1 (1 + q_h^r + q_h^{r^2} + q_h^{r^3} + q_h^{r^4})$$

$$\alpha_1 \times \frac{141}{11} = \frac{141}{11} \times \frac{141}{11} = \boxed{141 \frac{141}{11}} \checkmark$$

(۲)

۳

$$\frac{4\epsilon + 1}{r} = \frac{c(r, d)}{r} = \left. \begin{array}{l} \frac{4\epsilon}{r} = \frac{c(r)}{r} \rightarrow \alpha_\epsilon = \pm 1 \\ \alpha_\epsilon = \pm 1 \end{array} \right\}$$

$$\alpha_\epsilon = \pm 1 \rightarrow \begin{cases} \epsilon \in W \rightarrow c(r, d) + 1 \\ \epsilon \notin W \rightarrow c(r, d) - 1 \end{cases}$$

(۲)

۴

$$\frac{94}{\epsilon}, \frac{14}{\epsilon}, \dots \rightarrow \frac{12}{\epsilon} - \frac{94}{\epsilon} \xrightarrow{\text{دو طرفه ضرب}} \frac{101}{\epsilon} - \frac{94}{\epsilon} = \frac{7}{\epsilon} = 1$$

$$r^v \times q_h^v = 1 \rightarrow q_h^v = r^{-v} \rightarrow q_h = \boxed{r^{-1}} \checkmark$$

(۲)

۵

$$\frac{a+1d}{a+4d} = \frac{a+4d}{a+4d} \rightarrow a^r + 4d^r + 12ad = a^r + 12d^r + 10ad$$

$$r_{ad} = -10d^r$$

$$a = -10d$$

$$\boxed{-\frac{a}{10} = d} \quad \checkmark$$

(2)

$$\frac{a+vd}{a+vd} = \frac{a+vd}{a+vd} \rightarrow a^r + 9d^r + 9ad = a^r + 12ad + 9a^r \rightarrow r_{ad} = r_{ad}$$

(2)

$$q = \frac{a_1}{a_2} = \frac{a_1}{a_2} = \frac{1}{0.5} = 2 \rightarrow \ln, r, r^{-1}, r^{-1}, r^{-1}, \dots$$

$$\rightarrow \ln = r^{n-r} \rightarrow t_{10} = r^{1-r} = r^V = \boxed{15\Lambda} \quad \checkmark$$

$$a_n = r_{aq}, r_{aq}^r, aq^r \rightarrow \varepsilon aq^r = aq(r+q^r)$$

$$\rightarrow \varepsilon q = r+q^r \rightarrow q^r - \varepsilon q + r = 0 \rightarrow (q-1)(q-\varepsilon) = 0$$

(2)

$$\rightarrow q = \begin{cases} \mu \\ 1 \end{cases} \quad \text{X} \quad \rightarrow \boxed{q = \mu} \quad \checkmark$$

1

$$a_n = \frac{q-n}{\varepsilon} \rightarrow \begin{cases} a_1 = \frac{2}{\varepsilon} \\ a_2 = \frac{1}{\varepsilon} \\ a_3 = -1 \end{cases} \rightarrow \frac{-1+n}{\frac{1}{\varepsilon}+n} = \frac{\frac{1}{\varepsilon}+n}{\frac{2}{\varepsilon}+n}$$

(2)

$$\rightarrow \frac{1}{14} + \frac{n}{14} + \frac{n}{14} = \frac{n}{\varepsilon} + \frac{n}{\varepsilon} - \frac{2}{\varepsilon} \rightarrow \frac{n}{\varepsilon} = \frac{-21}{14} \rightarrow n = \frac{-21}{\varepsilon}$$

$$q = \frac{-\frac{2}{\varepsilon} - \frac{21}{\varepsilon}}{\frac{1}{\varepsilon} - \frac{21}{\varepsilon}} = \frac{\frac{1}{\varepsilon} - \frac{21}{\varepsilon}}{\frac{2}{\varepsilon} - \frac{21}{\varepsilon}} = \frac{2}{\varepsilon} \rightarrow \boxed{q = \frac{2}{\varepsilon}} \quad \checkmark$$

(1,2)

$$= a, aq^r, aq^r \rightarrow a, a^r d, a^r d \rightarrow a \times (a+4d) = (a+4d)^r$$

$$\rightarrow a^r + 9ad = a^r + 4d^r + 4ad \rightarrow 4ad = 4d^r \rightarrow \frac{d}{a} = \frac{4d^r}{4d} \rightarrow \frac{d}{a} = \frac{4d^r}{4d}$$

$$\rightarrow d = 4a = 4 \times 1 = \boxed{4} \quad \checkmark$$

حالت دوم : $q = 1 \rightarrow d = 0$
(دنباله ثابت)